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Abstract

The goal of this thesis is to show that the quotient space £ /cy has the local
diameter 2 property. We will start by defining the quotient space X/Y when
X is a vector space and Y is a subspace of X. We will see that when X is
normed, then X/Y can be given a norm in a natural way, and that this norm
is complete provided the norm in X is. In particular, we have that ¢, /cg is a

complete quotient space.

We will show that the dual of a quotient space X/Y is isometrically isomorphic
to the annihilator of Y in X™*, and thus it follows that the dual of ¢ /cg is

isometrically isomorphic to a subspace of (£)*.

We will realize the dual of £, as the space ba(2") of finitely additive signed
measures on 2" that are of bounded variation. Furthermore, we will show that
the dual space action on £ is given by the integral of functions in £, with
respect to such measures. Additionally, we will see that the dual space action

on /s /co is also given by this integral.

Once the dual space action on fn/co is established, we can generate slices
S(p,¢) of the unit ball By /., where ¢ € Sy /) and € > 0. A slice is a set
S(p,e) = {[r] € B/, : ¢([z]) > 1 —€}. Furthermore, the diameter of a
slice is the maximum distance between elements of the slice. By showing that
any slice contains elements [z], [y] € £oo/co such that z,y € o have the values
1, —1 respectively on a set A; C N of infinite cardinality, we are able to show

that all slices of By_ /., have diameter 2, i.e., { /co has the local diameter 2

property.
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Chapter 1

Introduction

The goal of this thesis is to show that the quotient space ¢ /cp has the local
diameter 2 property (Definition 5.1.4). Before we can discuss this property,

we need some background that will be presented in the upcoming chapters.

In Chapter 2 we introduce the term quotient space X/Y, when X is a vector
space and Y is a subspace of X. We will show that X/Y is a vector space,
that X/Y is normed whenever X is normed and Y C X is closed, and finally

that X/Y is complete whenever X is complete.

Chapter 3 contains theory that will be needed when discussing the results
presented in Chapter 4 and Chapter 5. We will begin by introducing duals
of normed spaces along with the term dual space action. This will be needed
when examining whether a space has the local diameter 2 property. Further-
more, the terms isomorphism and adjoint operator will be defined. Finally
we will introduce the ba(A)-space of finitely additive signed measures on an

algebra A that are of bounded variation. This will be needed when finding
the dual of £ /co.

We start Chapter 4 by showing that for any Banach space X and non-zero
element z* € X*, the quotient space X/ ker z* is isometrically isomorphic to
R. We will then move on to a more general result saying that when 7T is a

bounded linear surjective operator between Banach spaces X and W, then



the quotient space X/kerT is isomorphic to W. Furthermore we show that
when Y is any closed subspace of X, then the dual (X/Y)* is isometrically
isomorphic to the annihilator Y1 in X*. This shows that the dual of /s /co
is isometrically isomorphic to a subset of (¢ )*. Because of this, we will end

Chapter 4 by establishing an isometric isomorphism between the dual space

(£so)* and ba(2V).

In Chapter 5 we present various examples of Banach spaces that have, and do

not have, the local diameter 2 property. Finally, we show that £, /co has this
property.

We will assume familiarity with real analysis and basic theory of measure
and integration. We will only consider real vector spaces, so when discussing
sequence spaces the elements will only be real valued sequences. Whenever
we refer to a subspace Y of a vector space X, we mean that Y is a vector

subspace.

Our main sources for the theory presented in chapters 2, 3 and 4 are [BK] and
[FHHMZ]. We will use standard Banach space notation and terminology as

used in these books.



Chapter 2

Quotient Spaces

In this chapter we will introduce the terms quotient space, normed space and
Banach space. We will show that a quotient space can be given a norm in
a natural way, and that the quotient space is a Banach space under certain

conditions. Finally we will introduce the quotient space £« /co.

2.1 Quotient Spaces and Normed Spaces

In this section we will define the terms quotient space and normed space. We
will also present various examples of normed spaces which will be discussed

later in the thesis. Finally we will define a norm on the quotient space.

Definition 2.1.1. Let X be a vector space and Y a subspace of X. A coset
of Vin Xisaset 2] =2+Y ={x+y:y e Y} for some z € X. The quotient
space X/Y is the set of all cosets of Y in X, ie., X/Y ={z+Y :2 € X}.

The elements of the quotient space are cosets. It turns out that two elements
v and w of X belong to the same coset if and only if their difference v — w is

an element of Y. Let us see why.

Proposition 2.1.2. Let X/Y be a quotient space, where [v] and [w] € X/Y .

Then, v] = w] <= v—weY.



Proof. =: Assume [v] = [w]. Then the two sets v+ Y and w + Y are equal,
and thus there exist y € Y such that w + y = v 4+ 0 (note that 0 € Y since YV

is a vector space). Consequently, v —w =y €Y.

<=: Assume v —w € Y. Then we can write v = w +y for some y € Y. Hence

v+Y =w+y+Y =w+Y. O

We can define addition of cosets and multiplication of the cosets with scalars

to make X/Y a vector space. This is shown in the following proposition.

Proposition 2.1.3. Let X be a vector space and Y be a subspace of X. Let
x1,22 € X and o € R. The quotient space X/Y is a vector space with scalar
multiplication given by afz1] = [ax1] and vector addition given by [x1]+ [x2] =

[l‘l + 515'2] .

Proof. Let us start by showing that the two vector space operations are well
defined. Let us start with vector addition. Since each coset [z1], [z2] can be
expressed by several elements of X, we must ensure that the sum [x;]+ [z2] is
unique. Let z) € [z1] and 2, € [z9]. We must show that [z} + 5] = [z1 + z2].

By the definition of coset, there exist y1,y2 € Y such that
xll =1 +1y and xlz = x93 + Yo.
Thus,

(21 +23) = (@1 +@2) = (1491 + 22+ 1) — (01 + 2)
=T1— 21+ T2 — T2+ Y1+ Y2
=mnty2€Y.
By Proposition 2.1.2, it follows that [z} + x5] = [21 + 23] which is what we
needed. Since X is a vector space, we know that (x1 + x2) € X. It follows

that [z2 + x2] € X/Y by the definition of quotient space, and vector addition
is well defined.

Now, let us look at scalar multiplication. Like before, we must ensure that,

if 7 € [x1], then [ax)] = [az1]. Again, by the definition of coset, we have



:1:/1 = x1 + y1 for some y; € Y. Thus,
a:p/l —ary =a(x; +y1) — oy
= axr1 —ary + oy
=ay; €Y,
and by Proposition 2.1.2 we have the desired equality. Since X is a vector

space we have that ax; € X, and consequently [azi] € X/Y. Thus, scalar

multiplication is well defined.

For X/Y to be a vector space, it remains to show that eight axioms hold. To
this end, let [z1], [z2], [x3] € X/Y and «, € R. Then, since X is a vector

space, we get
1. Associativity of vector addition:
([e) + [w]) + [s] = [w1 + 2] + [w5]
= [(xl + 1‘2) + .I'3]

= [x1 + (z2 + x3)]

= [o1) + [22 + 23] = [w] + (2] + [z3]).
2. Commutativity of vector addition:

[xﬂ + [.1‘2] = [$1 + .1'2] = [:EQ + .Tl] = [SUQ] + [:L‘l]

w

. Identity element of vector addition:
[z1] + [0] = [21 + O] = [21].
4. Inverse element of vector addition:

[21] + [—21] = [21 + (—21)] = [0].

ot

. Compatibility of scalar multiplication with field multiplication:

a(fla1]) = alfri] = [a(B1)] = [(aB)z1] = (af)[z:].



6. Identity element of scalar multiplication:

Hai] = [1a1] = [z4].
7. Distributivity of scalar multiplication with respect to vector addition:

a([z1] + [z2]) = alz1 + 2] = [a(z1 + 22)]
= [Oé:L’l + Oél‘g]

= lax1] + [axs] = afz1] + afza).

8. Distributivity of scalar multiplication with respect to field addition:

(a+ B)a1] = [(a + B)ar] = [axy + fai]

= [ax1] + [Bx1] = afz1] + B[x1].

Note that the zero vector in X/Y is Y because [0] =0+Y =Y.

The following example illustrates how cosets are generated.

Example 2.1.4. Let Y := {z = (z1,22) € R? : 21 = 25}. We will describe

the quotient space R?/Y.

The set Y is a straight line through the origin with a slope of one, as shown
on the left side of Figure 2.1. It can easily be checked that Y is a subspace of
R2. By the definition of Y, each element of Y has the same real value in both

coordinates. Thus, for z = (71, 72) € R?, we see that [x] € R?/Y is given by

[z] = (21, 32) + Y
={(@1,22) + (r,r) : v € R}
={(x1 +r,za+7): 7R}
The left side of Figure 2.1 demonstrates how we find a point in the coset [x]

by adding y = (r,r) € Y to z. The right side of the figure shows that the

collection of all such points, letting r vary over all real numbers, form the coset



[x], which is a straight line parallel to Y. Thus, no matter which coset we look
at, a coset defines a straight line in R? parallel to Y, and R?/Y is the set of

all lines parallel to Y.

Y Y [x]

.(xl +7,X + )

AN
X = (x1,%) /

Figure 2.1: Constructing a coset [z] in R%/Y.

x = (Xy,X7)

We have seen how we generated the coset [z] for some x € R%. Let us see
how we can find the coset —[z]. In Figure 2.2 the vectors z and —x in R? are
shown as green arrows. By the definition of scalar multiplication in R?/Y we

have —[x] = [—z], and this coset is shown as the yellow line in Figure 2.2.

R2 Y [x]

X = (xlﬁ XZ)

Figure 2.2: Finding —|z].

Now, let ,u € R%. Let us find the sum [z] + [u]. By the definition of vector
addition in R%2/Y we have [z] + [u] = [z + u]. Figure 2.3 illustrates how we
can find this coset by adding the vectors « and v in R? and then generate the

coset [x + u] indicated by the pink line.



Y [x + u]

Figure 2.3: Finding [z] + [u].

The Example above illustrates that the cosets [z] € X/Y are lines parallel to

Y. More precisely, they are simply translations of Y.

If X is a normed space, it is possible to define a norm on the quotient space

X/Y. Before we do this, let us recall what we mean by a normed space.

Definition 2.1.5. Let X be a vector space. A function || - | : X — [0, 00)

defines a norm on X if it satisfies

(i) |lz|| > 0 for all z € X, and ||z|| = 0 if and only if z = 0,
(ii) [Jazx|| = |a||z|| for all z € X and all scalars a € R, and

(it)) lz +yll < Il + [ly] for all 2,y € X.

When X is endowed with a norm, X is said to be a normed space. It is possible
to define different norms on the same vector space. Therefore, to be precise,
it is the pair (X, || -||) which is a normed space, but we will simply refer to X
as a normed space when it is obvious or irrelevant which norm we are using.
Sometimes we will use the notation || - || x to indicate that we are considering

the norm on X.

It is natural to think of the norm as the distance between the element x and

the origin. In a normed space X, the open unit ball is the set Ux := {z € X :



llz|| < 1}, and the closed unit ball is the set Bx := {z € X : ||z|| < 1}. The
unit sphere is the set Sx = {x € X : ||z| = 1}.

Now, let us look at some examples of normed spaces.

Example 2.1.6. The FEuclidean norm on R” is given by

(@1, @2, ooy @a)l| = /22 + 73+ oo + 22 (2.1)

The next examples deal with spaces where the elements are sequences. In
this thesis, when we talk about a sequence x = {z;};en, we use the notation

x = {x;}. Now, let S denote the set of all scalar valued sequences, i.e.,
S:={r={x;}:x; € R}.

Example 2.1.7. Let o € R and {xz;}, {y;} € S. The set S is a vector space
where scalar multiplication is given by a{x;} = {ax;} and vector addition is
given by {z;} + {vi} = {xi + yi}. Clearly the two operations are well defined
as {ax;} € S and {z; +y;} € S. Furthermore, all eight axioms hold since R is

a vector space.

To show that a subset X of a vector space V is itself a vector space, it suffices

to show that X is closed under scalar multiplication and vector addition.

Example 2.1.8. The symbol ¢; denotes the vector space of all scalar valued

absolutely convergent sequences z = {z;} endowed with the norm

o
lfly o=l (2.2)
i=1

That a scalar valued sequence z = {z;} is absolutely convergent means that
[e.e)

|z;] < oo. Note that the set of all scalar valued absolutely convergent
i=1
sequences is a subset of S from Example 2.1.7. Thus, to see that ¢; is a

vector space it suffices to show that it is closed under scalar multiplication

and vector addition. Let a, 8 € R and « = {x;},y = {y;} € ¢1. By definition,



azr + By = {ax; + fy;}. Then, using the triangle inequality for the absolute

value, we have

S Jai + Byl < 3 (1ol + 18] i)

i€N iEN
= |a Z |zi| + |8 Z lyi| < oo,
i€EN i€N
and ¢ is a vector space. To see that (2.2) actually defines a norm on ¢;, we need

to check the criteria of Definition 2.1.5. To thisend, let z = {z;},y = {y;} € (1

and a € R.
(i) We see that ||z|| = > |z;] > 0 for all x € ¢;. Now, let z = 0. Then,
i=1

[e.°]
|z|| = X |0] = 0. Next, let ||| = 0. Then, |z;| = 0 for all ; which means
=1

that x = 0.
. ) )
(i) [Joz| = Zl azi| = |af Zl || = |o]|].
1= 1=

. o0 o0 [ee] o0
(i) flz+yll = 2 o + il < 3 (sl + wil) = X2 Jail + 2 lwal = [lzll + llyll-
i=1 i=1 i=1 i=1
Example 2.1.9. The symbol /., denotes the vector space of all bounded

scalar valued sequences endowed with the norm
|2 |loo := sup |z;]. (2.3)
1€N

That a scalar valued sequence z = {z;} is bounded means that sup |z;| < oo.
Note that the set of all bounded scalar valued sequences is a sub;il‘j of S from
Example 2.1.7. Thus, to show that f/, is a vector space, it suffices to show
that for o, f € R and @ = {z;},y = {yi} € l, we have {az; + By} € l.
Using the triangle inequality for the absolute value and the properties of the

supremum, we have

sup az; + Byi| < sup (lal[zs| + 18]|y:l) < lal sup 2| + 8] sup y:] < o,
ieN ieN ieN ieN

and we have the desired result. Furthermore, to see that (2.3) actually defines

a norm on {, it must be shown that (2.3) meets the criteria of Definition

2.1.5. Let « € Rand x = {z;},y = {yi} € {~. Condition (i) and (ii) are met

due to the properties of the supremum:

10



(i) We see that ||z|| = sup|z;| > 0 for all # € {o. Furthermore,
1€N

x=0 <= ||z|| =sup|z;| =0,
1€N

(i) [lax|| = sup |ow;| = || sup |z;| = |ef|]].

1€EN 1€N
The third and last condition is also fulfilled, using the triangle inequality for
the absolute value and the properties of the supremum:

|2+ yl| = sup w; + il < sup (|if + i)
ieN ieN
< sup |z;| + sup |y;| = [lz[| + [Jy]|.
ieN ieN
Example 2.1.10. The symbol ¢y denotes the subspace of ¢, consisting of all
x = {x;} satisfying lim z; = 0.
1—00

Clearly, cg is a subset of £y, as all x € ¢y are bounded. To show that ¢ is a
subspace of ¢, and hence a normed space, it suffices to show that ¢y is closed
under scalar multiplication and vector addition. Let o, 8 € R and x,y € ¢p.

We have that oz + By = {ax; + fy;}. Taking the limit of the sequence yields
lim (az; + fy;) =a lim z; + B lim y; =a-0+ 5-0=0,
1— 00 1—00 71— 00

and ax + By € ¢yp. The norm from (2.3) is defined for all elements of /o, and

is therefore also defined for all elements of cg.

Example 2.1.11. The symbol ¢ denotes the subspace of ¢, consisting of all

x = {x;} such that lim z; exists in R.
1—00

As all convergent sequences are bounded, ¢ is a subset of /.. To show that
c is a normed subspace of {,, it suffices to show that c is closed under scalar
multiplication and vector addition. To this end, let v, 8 € R and {z;},{y;} € c.

Let us denote the limits as lim x; = r; and lim y; = r2. We have
1—00 1— 00

lim (ax; + fy;) = a lim x; + 8 lim y; = ary + Bry € R,
71— 00 71— 00 21— 00
and we have the desired result.

11



We have now looked at various examples of normed spaces, all of which will be
used later in this thesis. Another norm that will be frequently used through-
out, is the operator norm (Example 2.1.17). As the operator norm is defined

for bounded linear operators, let us now introduce these terms.

Definition 2.1.12. A function T' : X — W, where X and W are vector

spaces, is called a linear operator if it satisfies
(i) T(ax) = aTx for all @ € R and =z € X, and
(ii) T(z1 4+ z2) = Tx1 + Txy for all x1, 29 € X.

Whenever W = R we call T" a linear functional.

Definition 2.1.13. A linear operator T : X — W, where X and W are
normed spaces, is said to be bounded if there exists an M € R such that

ITx||lw < M||z||x for all z € X.

Definition 2.1.14. Let X be a normed space and let » > 0. The open ball

centered at © € X with radius r is the set
B(z;r):={ue X : |z —ul| <r}.
The corresponding closed ball is the set
B(x;r) ={ue X : ||z —ul <r}.

Definition 2.1.15. Let T : X — W be an operator between two normed
spaces. T is said to be continuous at x € X if there for every ¢ > 0 exists
a 0 > 0 such that T'(B(z;d)) C B(Tx;e). T is said to be continuous if T is

continuous for every x € X.

Note that whenever T is linear there is an equivalence between T being contin-
uous at 0 and T being continuous everywhere. Additionally, it is not difficult
to see that whenever an operator T is linear, there is an equivalence between

T being bounded and 7" being continuous.

12



Definition 2.1.16. Let X and W be normed spaces. Then, £(X, W) denotes
the vector space of all bounded linear operators from X into W where scalar
multiplication is given by (aT')(x) = aTx and vector addition is given by

(T+ S)(x) =Tx+ Sz, fora e Rand T, S € L(X,W).

It is straightforward to prove that £(X, W) is indeed a vector space under the

above mentioned operations. Now we can define a norm on £(X,W).

Example 2.1.17. The operator norm is a norm on £(X, W) and is defined
for all T in £(X, W) by

|7 :== sup [Tzl (2.4)
rEBx
An equivalent definition is
[T
|T|| := sup . (2.5)
sex ||zl
z#0

Note that an operator T is bounded exactly when ||T'|| < co. The operator

norm is the smallest M satisfying ||Tz| < M]||z|| for all z € X.

Definition 2.1.18. Let X be a normed space. A sequence {z;} C X is said
to converge to a point x € X if there for every € > 0 exists an N € N such

that ||z, — z|| < € whenever n > N.

Definition 2.1.19. Let X be a normed space. A set U C X is called open in
X if there for all x € U exists a ball B(z;r) around z that is contained in U.

A set I' C X is called closed in X if the complement F° is open.

Remark 2.1.1. Note that an open ball B(z;r) is an open set.

Remark 2.1.2. A subset Y of a normed space X is closed if and only if the limit

of every sequence {y;} C Y, convergent in X, also lies in Y, i.e., lim y; € Y.
11— 00

Definition 2.1.20. Let X be a normed space with a closed subspace Y. For

hze X, let .= inf .
cach z et [l[2]llxyy = inf llo +yllx

In the next proposition we will show that || - [|x/y defines a norm on X/Y.
In Figure 2.4 we see a 2D representation of how ||[x]|| measures the "distance"

from [z] to Y.

13



Figure 2.4: The coset [z] € X/Y generated by x € X, and the norm ||[z]|| =

inf .
;gyllwry!l

Proposition 2.1.21. Let X be a normed space with a closed subspace Y .

Then || - || x/y from Definition 2.1.20 defines a norm on X/Y.

Proof. Let [x] € X/Y. Then ||[z]| = in£|]x + y||. We must show that the
ye

defined norm satisfies the criteria in Definition 2.1.5.

(i) Since [|lz + y|| > 0 for all x+y € X, then |[[z]|| = inf [lz + y|| > 0 for
ye
all [z] € X/Y. Suppose [z] is equal to the zero vector in X/Y, ie., [2] =Y.
Then ||Y]| = inf ||y|| = 0 since 0 € Y.
yey

Now suppose ||[z]|| = 0. It must be shown that [z] =Y. We have 0 = ||[z]|| =
ini;/ |z 4+ yn||. Because of this, for all n € N there must exist some y, € Y
Yn€

such that ||z — (—yn)|| < L. Therefore {—y, }52, converges to x, and since Y

is closed in X, it follows that z € Y. Consequently, [z] =2z +Y =Y.
(ii) Let o be a nonzero scalar. If z € X, then
= inf = inf
Jalelll = inf lax+y] = inf oz + oz
= inf |afllz + 2[| = |af inf [lz + z[| = |af[|[]]]
z€Y z€Y

(iii) Let [x1], [z2] € X/Y and € > 0. By the definition of the norm, there exist

elements y1,y2 € Y such that

14



o1+ ol < ]l +e/2  and  [log +yell < [llz2]] +2/2.

Then, by the definition of vector addition in X/Y, and by using the triangle

inequality for the norm on X, we get

Ilza] + [22]ll = Iz + 22]l] < flz1 + 22 + (11 + 92)|
< [lz1 + w1l + [l + g2

< [zl + [zl + .

Since e was arbitrary, it follows that ||[x1] + [x2]|| < |[[z1]]| + ||[z2]]|. Hence,

the triangle inequality is satisfied and || - || x/y is a norm on X/Y". O

Note that it is important that Y is closed in X for || - [|x/y to be a norm. If

Y is not closed and {y;} C Y such that lim y; = x ¢ Y, then ||[z]|| = 0 while
1— 00
[z] # 0.

2.2 Quotient Spaces and Banach Spaces

In this section we will define completeness and show that the quotient of a
complete normed space with a closed subspace, is complete. We will also look

at other examples of complete spaces.

Definition 2.2.1. A sequence {z;} of a normed space X is called a Cauchy
sequence if there for every ¢ > 0 exists an N € N such that ||z, — x| < €

whenever n,m > N.
Note that all convergent sequences are Cauchy.

Definition 2.2.2. A Banach space is a complete normed space, i.e., a normed

space X where all Cauchy sequences {z;} C X converge in X.

Proposition 2.2.3. Let X be a Banach space and Y a subspace of X. Then,

Y closed in X <= Y Banach.

15



Proof. =>: Assume Y is closed and let {y;} C Y be Cauchy. Since X is
complete, {y;} converges in X. Since Y is closed, the limit is in Y. Hence YV

is complete.

<=: Assume Y is complete and let {y;} C Y be convergent. Since {y;}
converges, it is Cauchy. Since Y is complete, the limit is in Y. Hence Y is

closed. ]

Example 2.2.4. Let P[0,1] denote the set of all real valued polynomials
defined on the interval [0,1]. The symbol C0,1] denotes the vector space
of all continuous functions on [0, 1] endowed with the supremum norm. The

space C[0,1] is complete, but P[0, 1] is not. Let us see why.

All polynomials p : [0,1] — R where p(x) = i a;x', a; € R are continuous, so
PJ0, 1] is a subset of the set of all continuousz?l(l]nctions on [0,1]. The set P[0, 1]
is closed under both scalar multiplication and vector addition and is therefore a
subspace of C[0, 1]. There is a well-known theorem in real analysis stating that
C0,1] is complete: A uniformly convergent sequence of continuous functions
converges to a continuous function. To show that P[0, 1] is not complete, let

pn(x) be the truncated Maclaurin series of e*, i.e.,

Then, p,, is a polynomial for all n € N, and p,, converges to e* € C|0, 1], but
e® ¢ P[0,1]. Thus, P[0, 1] is not complete.

Example 2.2.5. /., is a Banach space.

In Example 2.1.9 it was shown that /., is a normed space when given the
supremum norm defined in (2.3). It remains to show that (o, is complete in
this norm. Let {s"},en C £ be a Cauchy sequence where s = {z]' }ien € loo
for each n € N, i.e., s = {«}, 25, ...,2},...}. Since {s"} is Cauchy, we have

that for all € > 0 there exists an N € N such that whenever n, m > N we have
|s" — s™||co = sup |2} — x| < g/2.
€N
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This means that for all n,m > N we have |2} —2!"| < ¢/2 for every i € N, so
for each fixed i, the sequence {z },en is Cauchy in R. Since R is complete, the
sequence {z]'},en converges to some z; € R for each i. Moreover, note that for
all i € N and for n > N, we have |z; —2]'| < e. Now let L = {z1, 22, ..., x;, ...}.

We get

il = [o; — 2l +aff| < i — 2| + |2 <6+SU£I$fV|=€+IISNH-
1€

Since this holds for every ¢ € N, each term of the sequence L is bounded by
this value, and L € /. Finally we see that
|s" — L|| = sup |z}’ — x| <e forall n> N,
€N

which shows that the Cauchy sequence {s"} converges to L in lo, i.e., loo is

complete.

Example 2.2.6. ¢ is a Banach space.

We already know from Example 2.1.10 that ¢y is a normed subspace of f.
Showing that ¢y is complete is equivalent to showing that cq is closed in £,
due to Proposition 2.2.3. Let {z"} be a sequence in ¢y converging to a = {a;}.
To prove that c¢g is closed in £, we must show that a € ¢, i.e., that a; — 0
as ¢ — 00. Because of convergence, for all € > 0 there exists an N € N such
that whenever n > N, we have

|z" — al| = sup |z} — a;| < /2.
1€EN

In particular, the sequence z satisfies |z — a;| < £/2 for every i € N. Since

xV converges to zero we know that for our choice of ¢ there exists an I € N

such that |z} — 0| = || < £/2 whenever i > I. Combined, this yields
lai| = la;i — &} + a2} | < ai — x| + |2} | <e/2+¢/2,
whenever ¢ > I, and we have the desired result.

Example 2.2.7. c is a Banach space.
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In Example 2.1.11 we showed that ¢ is a normed subspace of £,,. To prove c
is complete it suffices to show that c is closed in £, due to Proposition 2.2.3.
Let {s"} C ¢ be a sequence converging to a = {a;} € lo, where s" = {2} }ien

for each n. It must be shown that a € ¢, i.e., that lim a; exists in R. Because
12— 00

of convergence, for all € > 0 there exists an N7 € N such that
|s" — alloo = sup|zj —a;] <e/3 for all n> Nj. (2.6)
i€EN

Each sequence s™ is convergent, i.e., for each n there exists a " € R such that

lim zf' = b". Thus, for all ¢ > 0 and for each n there exists an I,, € N such
11— 00

that
|z — 0" < e/3 forall i > I,. (2.7)

Since {s"} C ¢ converges in lo the sequence is Cauchy. Thus, for all ¢ > 0
there exists Ny € N such that [|s" — s™|loc < £/3 whenever n,m > Na. Thus,
for all 7 € N,

|z — x*| < e/3 for all n > Ns. (2.8)

Now, combining (2.7) and (2.8), we get that whenever n > Ny and i >
max{l,, I, }, then
0" =" = V" = + x) — a4 xt ="
<" — a4 |27 — |+ [2i" — b
<e/3+4+¢/3+¢/3.

Hence, the sequence {"} C R is Cauchy, and because of the completeness of

R there exists an N3 € N and b € R such that
|b" — bl < /3 forall n> Ns. (2.9)

Let N = max{Ny, N3}. Combining (2.6), (2.7) and (2.9) yields that for all
€ > 0 and whenever n > N, ¢ > Iny we have
la; — b = |a; — x) + ¥ — N + N —p|
< lag — 2|+ Ja7 = 0] + [~ b]

<e/3+¢/3+¢/3.
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Thus, a; — b and the sequence a is in c.

Example 2.2.8. Let X and W be normed spaces. The space L(X,W) is

complete whenever W is. We will skip the proof.

We are now ready to show that the norm || - ||x/y from Definition 2.1.20 is
complete whenever X is a complete normed space and Y a closed subspace of

X.

Theorem 2.2.9. Let X be a Banach space with a closed subspace Y and let
Ilx]|| = in}f/ |z + yl| for all [z] € X/Y. Then (X/Y,||-||) is a Banach space.
ye

Proof. Proposition 2.1.21 shows that this norm actually is a norm on X/Y.
It remains to show that it is complete, i.e., that all Cauchy sequences in X/Y
converge in this norm. Let {[zx]}ren be a Cauchy sequence in X/Y and let

€ > 0. Then there exists an N; € N such that whenever n,m > N; we have
[[zn] = [zm]ll = inf [[2n — 2m +yll <e/2. (2.10)
yey

Since it is possible to get arbitrarily close to the infimum value, we can for each
n,m € N choose elements v,y € Y so that .T}ln =z, + Yy, and x;n = Ty + Ym

fulfills
1

n+m’

!

|z, = @ll < llln] = [zm]l| +

(2.11)

The relation between (2.10) and (2.11) is illustrated in Figure 2.5.

[%n]

Ilz] + (%]

(%] | 1% — Xl

Figure 2.5: A 2D representation of the relation between (2.10) and (2.11).
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Now, for our choice of ¢, let Ny € N so that whenever n, m > N, we have

1
n-—+m

<e/2. (2.12)

Let N = max{Nj, Nao}. Thus, combining (2.10), (2.11) and (2.12), whenever

n,m > N we get

2, = 2|l < l[zn] = [2m]]] + <e/2+¢/2,

n—+m

which means that {x;ﬁ} is a Cauchy sequence in X. Since X is a Banach space,
x;c converges to some x € X. Thus, for every € > 0 there exists a K € N so
that whenever k£ > K we have ||a;;C — || < e. Now, the coset generated by the

limit z is [x] =2 +Y € X/Y. Thus, whenever k > K, we have
Ilza) = o]l = Wlwg] = [alll = inf floy, — 2+ y[| < Jloy, -2+ 0ff <e.

Note that, since we defined x;g to be x}c = x} + yi for some y, € Y, we have
that [z)] = [z}] due to Proposition 2.1.2. Thus, {[z}]} converges to [z] in

X/Y and X/Y is complete. O

We now have some general understanding of what a quotient space is, and we

have shown that a quotient space X/Y is complete whenever X is.

Example 2.2.10. ¢/¢ is a complete quotient space.

As shown in Example 2.2.7 ¢ is complete. Clearly ¢ is a subset of ¢. Since ¢y
is complete (Example 2.2.6), ¢o is a closed subspace of ¢ due to Proposition
2.2.3. The quotient space ¢/cy meets the criteria of Theorem 2.2.9, and ¢/cq

is complete.

Example 2.2.11. /, /¢y is a complete quotient space.

Example 2.2.5 shows that £ is complete. In Example 2.2.6 we show that ¢ is

a closed subspace of £,. It follows that ¢, /cg is complete by Theorem 2.2.9.
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Chapter 3

Toolbox

When we in Chapter 5 will discuss whether a space has the local diameter 2
property, it is important to know more about another Banach space, namely
the dual space. This space will be discussed in the first section of this chapter.
When discussing the dual of a quotient space X/Y in Section 4.3, we will
use the terms isomorphism and adjoint operator, and these terms will be
introduced in sections 3.2 and 3.3. Finally, to discuss the dual of ¢, in Section

4.4, we also need some measure theory which will be the topic of Section 3.4.

3.1 The Dual Space

In this section we will define dual space and dual space action and present

some relevant examples.

Definition 3.1.1. Let X be a normed space. The vector space L(X,R) en-
dowed with the operator norm (2.4) is the dual space of X and is denoted by
X*. The way the functionals z* € X™* acts on elements x € X is called the

dual space action on X.

Note that X* = L(X,R) is complete because R is complete, as stated in

Example 2.2.8.

For many spaces it is known how the dual space action works. Let us look at

some examples of dual spaces X™* and their relation with X. In the following
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examples, * = {b;} will denote an element of the dual space in question and

x={a;} € X.

Example 3.1.2. The dual of R"” with the Euclidean norm (2.1) is (R")* = R"

with the Euclidean norm, and the dual space action is given by
n
x*(x) = Z bia;.
i=1

Example 3.1.3. The dual of ¢ is ¢ = ¢; with norm (2.2) and the dual of
01 is €7 = ls with the supremum norm (2.3). The dual space action in both

cases is given by

¥ (x) = Z bia;. (3.1)
i=1

Example 3.1.4. The dual of ¢ is ¢* = ¢; with norm (2.2) and the dual space
action is given by

1'*(1') =b Zl;rélo a; + Z ai—1b;. (3.2)
1=2

Note that the equalities in the previous examples, i.e. (R")* =R, ¢§ = (1,
c¢* = {1 and {] = {, are signifying that the respective spaces are isometrically
isomorphic. The term isometrically isomorphic will be defined in the following

section (Section 3.2), and instead of = we will then write 2.

o =4,

Co

Figure 3.1: Some Banach spaces and their dual spaces.
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Figure 3.1 illustrates the connection between the Banach spaces cg, ¢, 01, oo
and their duals. Note that both ¢y and ¢ are subspaces of ¢, as shown in

Examples 2.1.10 and 2.1.11.

3.2 Isomorphisms and the Bounded Inverse Theo-

rem

In this section we will introduce the notion called an isometric isomorphism
between two normed spaces X and W. Then we will show that the quotient
space R?/Y (where Y is as in Example 2.1.4) is isometrically isomorphic to
R. Finally, we will introduce the Bounded Inverse Theorem. The theory

presented in this section will be needed throughout Chapter 4.

Definition 3.2.1. A map 7' : X — W between two normed spaces X and W

is called an isomorphism if the following conditions are met:
(i) T is bijective,
(ii) T is linear,

(iii) both T and T~! are continuous.

When T': X — W is an isomorphism, we say that X and W are isomorphic
and we write X ~ . If in addition to the above, ||Tz|| = ||z| for all z € X,

then T is called an isometric isomorphism. In this case we write X = W.

Note that, whenever X and W are normed spaces and T : X — W is a
linear surjective and isometric operator, then 7' is automatically injective and

bounded, and its inverse is continuous. Hence, X = W.

Definition 3.2.2. Let X and W be Banach spaces and let T': X — W be a

bounded linear operator. The kernel of T is the set
kerT :={x € X : Tz = 0}.
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Now let us show that R?/Y (where Y is defined as in Example 2.1.4) is iso-

metrically isomorphic to R.

Example 3.2.3. Let X = R? with the Euclidean norm (2.1) and recall that
Y :={x = (z1,22) € X : 1 = x2}. The quotient space X/Y is isometrically

isomorphic to R. Let us see why.

As shown in Example 2.1.4, X/Y = R?/Y is a quotient space where the cosets
are lines parallel to Y. To show that X/Y is isometrically isomorphic to R,
it suffices to show that there exists a linear surjective and isometric operator

T:X/Y >R

To find the needed map T : X/Y — R, let us start with an observation.
Consider z* = (1, —1) from the dual of X. Note that X* = X, so 2* is indeed
an element of X*, and the dual space action is defined in Example 3.1.2. We
have

z*(z) = (1, -1)(x1,22) =21 — 22 forall e X.

Since z*(x) = 0 if and only if z € Y, we have that ¥ = kerz*. Now, let
[z] € X/Y and w € [z]. By the definition of coset, w = z+y; for some y; € Y,
and [w] = [z] due to Proposition 2.1.2. Choose = € X so that z*(z) = 1. Note

that z € X and z*(z) € R. Thus, due to the linearity of z*, we have

¥ (w—z*(2)x) = 2% (w) — 2" (2)z™(x)

=z (w)—z2"(2) 1 =a"(w—2) =a"(y1) =0. (3.3)

Consequently, w — x*(z)x € kerz* =Y. Thus, by Proposition 2.1.2,

[w] = " (2)2]
Since [w] = [2] and 2*(2) = r € R, we have [z] = r[z]. Thus,
for all [2] € X/Y there exists r;; € R such that [2] = r,[z]. (3.4)

Let us now define an operator T': X/Y — R by

Tlu) = iyl [2]]]-
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We see that T[u] is unique for each [u] € X/Y due to (3.4), and T is well
defined. To show that 7' is an isometric isomorphism we must show that 7" is

linear, surjective, and that ||T[z]|| = ||[z]||-

Let us see that T is linear. Let o € R and [u] € X/Y. By (3.4) there exists

71y € R such that [u] = rp,[z]. Furthermore, afu] = arp,[z], which yields
T(alu)) = ary|[=]l = oT'[u].

Now, let [u], [v] € X/Y. By (3.4) there exist r(,), 7}, € R such that [u] = 7, []

and [v] = 7y [z]. Furthermore, [u]+[v] = rp,[z]+ 7y (2] = (7 +7p))[2]. Thus,
T([u] + [v]) = (r) + r) 2] = rpg ]l + rpll]]] = Tlu] + To],
and T is linear. Now, observe that for [u] € X/Y we have

Tl = N (=11 = el = 1T Tulll,

so T an isometry. It remains to show that 7" is surjective. Since both X/Y
and R are vector spaces and T is linear, we have that 7'(X/Y) C R is a vector
space. Since R does not contain any proper subspaces, we have T'(X/Y) = R,

i.e., T is surjective.

Example 3.2.3 shows that X/Y = X/kerz* = R where X = R? and z* =
(1,—1). In Section 4.1 we will see that we have this isometric isomorphism no

matter which z* € X* we look at and for any Banach space X.

Let us now present some results that we will need when proving the Bounded

inverse Theorem and the final result of this section.

Proposition 3.2.4. Let T : X — W be an operator between two mnormed

spaces. The following are equivalent:

(i) T is continuous,

(ii) U C W is open = T~Y(U) is open in X,
(iii) F C W is closed => T~(F) is closed in X.
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Proof. (i) = (ii): Assume T is continuous. Let zo € T~(U). Since U is an
open set, there exists ¢ > 0 such that the ball B(Txg;¢) is contained in U.
Since T is continuous we know that there for our choice of ¢ exists a § > 0
such that T'(B(z¢;6)) C B(Twzo;e) C U. Consequently, B(zo;d) C T-1(U).

Since zg € T~(U) was arbitrary, T~!(U) is an open set.

(ii) = (i): Assume that U C W open = T~ 1(U) open in X. Let x¢ €
T~Y(U). Since U is open, let ¢ > 0 such that B(T'zg;¢) C U. Then, B(Txg;¢)
is an open set in U (see Remark 2.1.1). Let us denote this set by S = B(Tx¢; ¢).
Thus, by our assumption, the set 7-1(S) ¢ T~1(U) is open in X, i.e., for all
x € T71(9) there exists § > 0 such that B(x;d) C T~!(S). Consequently,
there exists 6 > 0 such that

T(B(ao; 9)) € § = B(Tao:).

and we are done.

(ii) = (iii): Assume U C W open = T~ }(U) open in X. Let F C W
be a closed set. Thus, F° is open, and by our assumption T~!(F¢) is open
in X. Since inverse images commute with complements, the set T-1(F¢) =
(T~1(F)) is open in X. Consequently the set 771(F) has an open comple-

ment, hence it is closed.

(iii) == (i1): Assume F C W closed = T~1(F) closed in X. Let U C W be
open. Then U€ is closed and T~1(U°®) is closed by assumption. Consequently,
T-YU®) = (T~Y(U)) has an open complement, namely 7~(U). O

Definition 3.2.5. Let X and W be normed spaces. The map T : X — W is

an open map if T(U) is open in W whenever U is open in X.

Theorem 3.2.6. (Open Mapping Theorem) If X and W are Banach spaces
and T : X — W is a bounded linear surjective operator, then T is an open

map.
Proof. See [BIK, Proposition 4.25]. O

26



Corollary 3.2.7. (Bounded Inverse Theorem) If X and W are Banach spaces
and T : X — W is a bounded linear bijection, then T~ is a bounded linear
operator. Consequently, any continuous linear bijection between Banach spaces

is an isomorphism.

Proof. Since T is bijective, the inverse 77! : W — X is well defined. It can
easily be checked that 7! is linear whenever T is. By the Open Mapping
Theorem (Theorem 3.2.6), T is an open map. Then, by Proposition 3.2.4,

T~ is continuous and thereby bounded. O

We will end this section with a final result.

Proposition 3.2.8. Let X and W be normed spaces and let T € L(X,W).

Then ker T is a closed subspace of X.

Proof. Let a € R and u,v € kerT, i.e., Tu = Tv = 0. Then, since T is linear,

T(ou) =aTu=0 = au € kerT, and

Tu+v)=Tu+Tv=0 = u+v€kerT,

so ker T is a vector space. Since T is continuous and {0} is closed in W, then

ker T is closed in X by Proposition 3.2.4. O

Remark 3.2.1. Let X and W be normed spaces and let T' € £(X,W). Since
ker T is a closed subspace of X by the previous proposition, X/kerT is a
normed quotient space (Proposition 2.1.21). Furthermore, X/kerT is com-

plete whenever X is complete due to Theorem 2.2.9.

3.3 Adjoints and the Hahn-Banach Theorem

In this section we will define the adjoint T of an operator 7', and we will show
that it is bounded and linear. First we will present the Hahn-Banach Theorem
as this is needed to prove that ||T*|| = ||T'||, which we do in the last result of

this section. The adjoint is needed when establishing an isometric isomorphism
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between the dual of a quotient space X/Y and the set Y+ (Definition 4.3.1),

which we will do in Section 4.3.

Theorem 3.3.1. (Hahn-Banach Theorem) Let X be a normed space and let
Y C X be a subspace. If f € Y™, then there exist a functional f € X* such
that || f]| = |If]| and f(x) = f(x) for allz €Y.

Proof. See [BIK, Theorem 3.9]. O

Proposition 3.3.2. Let X be a normed space. If x € X, then there exists
u* € X* such that ||u*]| =1 and u*(x) = ||z||, and

x| = sup |z*(z)].

r*EBx*

Proof. Let x € X. We define a subspace Y, to be

Y, :={rz:r e R}
Now we define a function f : Y, — R by f(rz) = r|z| and let « € R and
rz, rox € Y,. We have

fla(riz)) = f((ar)z) = (ar)|lz] = a(r|z]) = of (r1z), and

flriztrax) = f((ritre)z) = (ritro)llel = riflzll+rallzl] = f(riz)+f(r),

and f is linear. Furthermore, by the definition of operator norm in (2.5), we

have

= sap Y2 el

- )
raeY, lrzll reey, [l

and f is bounded. Consequently f is an element of the dual space Y;F. Thus,
by Theorem 3.3.1 there exists a functional f € X* with ||f|| = || f|| = 1 and
f(u) = f(u) for all u € Y,. We see that f(z) = f(1-z) = ||lz||. It remains to

show the supremum-equality. Note that ||f]| = 1, so f € Bx-. Thus,

|z = f(x) < sup |27 (2)].
I*EBX*
To show the other inequality, let * € Bx+ be arbitrary. We have
| ()| < ||=*||[|z]] < 1-||x| forall z* € Bx~.

Taking the supremum over * € Bx+ on both sides gives the desired result. [
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Definition 3.3.3. Let X and W be normed spaces and let T € L(X, W).
The adjoint of T is the map T : W* — X* defined by

(T"w*)(z) =w"(Tz), z€X, w"eW™"

The relation between T and T™ is illustrated in Figure 3.2 where the purple

lines illustrates how (T*w*)(z) = w*(Tz).

X' g = mw = w
/ D — w*
/ A\
T
.’ N\
|
X W \
/ T \
f \
*X Tx

Figure 3.2: The adjoint of T" defined by (T*w*)(z) = w*(T'x).

Proposition 3.3.4. Let X and W be normed spaces and let T € L(X,W).

Then T* is a bounded linear operator with ||T™| = ||T|.

Proof. First, let us see that T™ is well defined. Let w* € W*. We can easily

see that T*w* is linear because T' and w* are linear. Furthermore, we have

IT*w™|| = sup [(T*w")(z)[| = sup |w"(Tz)|

z€EBx z€Bx

< sup [[w|[[(Tz)[| = [Jw* 7],
rEBx

and T*w™* is bounded. It follows that T*w* € X* and T™* is well defined. Now
let us show that 7™ is linear and bounded. Let o, € R and w],ws € W*.
Then,
(T"(awy + fwy))(z) = (awy + fwy)(Tx)
= (aw?)(Tz) + (Bwy)(Tx)

= aw;(Tz) + fwy(Tx) = a(T wy)(x) + BT w;) (),
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which shows that 7™ is linear. We have already established that [|[T*w*| <
[lw*||[|T||. Taking the supremum on both sides yields
IT*| = sup [[T*w*[|< sup [lw*||T] =T,
w*EByy w*EByys
and T™ is bounded with [|77| < ||T'||. It remains to show that || 77| > |||
Since ||T|| = sup ||Tx||, there will for all & > 0 exist z € By such that
T —e < ||T;ﬁ3%y Proposition 3.3.2 there exists w* € W* with ||w*|| =1
such that w*(Tx) = ||Tz||. Combined with the fact that both T*w* € X* and

T* are bounded operators, we get

TN =& < [IT]| = w*(Tx) = (T"w")(x)
< [(T"w™)(2)|

<N w [l < 1T < (1 T[] = 1T
Thus, ||T|| < ||T*|| 4 € for all £ > 0, and we have the desired result. O

Remark 3.3.1. It can be shown that if T € £(X,W) is an isometric isomor-
phism, then 7% € L(W*, X*) is an isometric isomorphism. In fact, the map

T — T* is an isometric isomorphism from £(X, W) to L(W*, X™).

3.4 Measure Theory and the ba(.A)-Space

This section will provide definitions and results that will be needed when
identifying the dual of £, in Section 4.4. In Section 4.4 we will realize o, as
the uniform closure of the linear span of the characteristic functions on the
o-algebra 2N presented in Example 3.4.3. Furthermore, the dual of £, will be
realized as the set of some kind of “primitive” measures and the dual space
action will be integration against these measures. Thus, in this section we will
present a brief theory of such measures and the integration of uniform limits of
simple functions on a o-algebra. In fact, we will never use that the o-algebra
respects more than finite unions, and thus we will work on a more primitive

family of sets.
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3.4.1 Algebras and Finitely Additive Signed Measures

In this subsection we will define algebra, finitely additive measures and the
total variation of such measures. Furthermore we will introduce the ba(.A)-

space and the Jordan decomposition of A € ba(A).

Definition 3.4.1. Let X be a nonempty set. A collection A of subsets of X

is called an algebra whenever the following conditions are met:
(i) 0 e A,
(ii) Fe A= E° € A,
(iii) {E)7, Cc A= 161 EcA.
i=

This definition is the same as for o-algebras except that for algebras we only

assume closedness under finite unions. Note that X € A because X¢ = () € A.

Example 3.4.2. Let X =N and let A:={E C X : either E or E° is finite}.

Then, A is an algebra, but not a o-algebra.

Example 3.4.3. Let X be a nonempty set. The power set of X is the col-
lection of all possible subsets of X, and is denoted 2¥X. The power set is a

o-algebra.

Definition 3.4.4. Let A be an algebra of subsets of a set X. A finitely

additive signed measure on A is a function A : A — R where
(i) A(0) =0,

(ii) Only +oo or —oo is included in the range (since co — oo is not defined),

n n
(iii) Given a disjoint family {E;}"; C A, then A\( U E;) = X A(E)).
i=1 i=1
We say that A is a positive finitely additive measure if A only assumes non-

negative values.
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Definition 3.4.5. Let A be an algebra of subsets of a set X andlet A : A — R
be a finitely additive signed measure. For every E € A, the total variation of

A on FE is defined as

n
IA(E) :==sup ) |A(E3)l,
Toi=1
where m = {E1, Eo, ..., B, } is a finite partition of FE.

Remark 3.4.1. For a positive finitely additive measure A, the total variation

of A on FE is equal the measure of FE, i.e.,

[AI(E) = sup S IME)| = sup > OAE;) = A(E).
=1 =1

Now, let A be an algebra of subsets of a set X and let A, B € A such that
A C B. If{Ey,...,E,} is a partition of A, then {E}, ..., E,,, B\A} is a partition
of B. Furthermore,

Zn: IACED| + [MB\A)| < [A[(A) + [AMB\A)[ < [A[(B),
i=1

and we see that || has maximum value |A|(X). When |\|(X) is finite, i.e.,

when |A\|[(X) < oo, we say that A is of bounded variation.

Proposition 3.4.6. Let A be a finitely additive signed measure on the algebra
A. If X is of bounded variation, then |\| is a positive finitely additive measure

on A.

Proof. First of all, since ) is the only partition of (), we have |\|(0) = |A\(0)| = 0.
Furthermore, it is clear by the definition of |A| that |\ is a positive set function.
For |A| to be a positive finitely additive measure, it remains to show that
IA|(AUB) = |A|(A) 4+ |\|(B) whenever A, B € A are disjoint sets. To this end,
let € > 0 and let # = {E1, Eo, ..., B, } be a partition of AU B fulfilling
n
A(AUB) —e <> |A(E;). (3.5)
i=1

Since A and B are disjoint, we can split each E; € 7 into two disjoint sets Fj; 4
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and F; g. This yields

S IME) =D |A(EiaUE;p)|

i=1 =1

= Z IA(Eia) + AMEiB)|

SsupZ\)\ H—supzp\

= [AI(A) + [X(B).
Consequently, (3.5) yields |[A[(AUB) < [A|(A)+|A|(B). It remains to show the
other inequality. Assume |A|(AU B) < |A|[(A) 4+ |A(B)|. Then, we can choose
partitions w4 and wg such that

A(AUB) < > [AE) + > [ME) (3.6)

Eemy Eerp

We see that m = w4 U is a partition of AU B, and thus (3.6) yields

N@AUB) < > X&),

EempUrnp
which is a contradiction. It follows that |A|[(AU B) = |[\[(A) + |A|(B), and |A|

is a positive finitely additive measure. O

In the following we will only work on cases where A is a finitely additive signed

measures of bounded variation. Let us now introduce the ba(.A)-space.

Definition 3.4.7. Let A be an algebra of subsets of a set X. The symbol

ba(A) denotes the vector space of all finitely additive signed measures A : A —

R of bounded variation. Scalar multiplication and vector addition is given by
(aN)(E) = a\(E) for all a € R\ € ba(A),
A+n)(E)=XE)+n(E) forall A\ /neba(A).

It is straightforward to prove that the two operations in Definition 3.4.7 are

well defined. The following proposition shows that the total variation is a

norm on ba(A).
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Proposition 3.4.8. Let A be an algebra of subsets of a set X. The total
variation |\ (X) defines a norm on ba(A), i.e., ||| = |A[(X) for all X € ba(A).

Proof. To see that |A|(X) is a norm on ba(A), note that for all X\ € ba(A) we
have |A|(X) < oo. Thus, || - || : ba(A) — [0,00). Furthermore, it can easily
be shown that the three criteria of Definition 2.1.5 hold partly due to the

properties of supremum and partly due to the triangle inequality. O

In Section 4.4 we will see that ba(A) is a dual space and thereby a Banach

space (Corollary 4.4.7).

Let us show that each finitely additive signed measure A\ € ba(.A) can be split

into the difference of two positive finitely additive measures.

Proposition 3.4.9. Let A be an algebra of subsets of a set X and let A €
ba(A). Define two set functions by

1 1
N i= (A ) and AT = S (A - A).

Then, X™ and A\~ are both positive finitely additive measures of bounded vari-

ation.

Proof. Due to Proposition 3.4.6, |A| is a positive finitely additive measure.
Thus, due to Remark 3.4.1, |A| is of bounded variation and |A| € ba(A).
Furthermore, since ba(A) is a vector space, both AT and A~ are in ba(A). Tt
remains to show that A* and A~ only assume non-negative values. By the
definition of |\| (Definition 3.4.5) we have that |A(E)| < |A[(E) < oo for all
E € A whenever A € ba(A). Thus, both AT(E) and A\~ (E) are greater or
equal to 1 (|A[(E) — |A(E)]) >0, for all E € A. O

Note that the definition of A™ and A\~ from the previous proposition yields
A=A"T—=XA" and |A|=AT+27, (3.7)

for all A € ba(A). The splitting A = AT — A\~ is called the Jordan decomposition
of A. We refer to [BR, page 53] for more information on when a finitely additive

signed measure admits a Jordan decomposition.
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3.4.2 Integration Against ba(A)-Measures

In this subsection we will define characteristic function, simple function and
the integral of such functions with respect to A € ba(A). Furthermore, we will
define the integral of a function f : X — R when f is the uniform limit of a

sequence of simple functions on X.

Definition 3.4.10. Let A be an algebra of subsets of a set X and let F € A.
The characteristic function of E is the function 1g : X — R defined by

1p(2) 1, z€F
E(T) =
0 otherwise.

Definition 3.4.11. Let A be an algebra of subsets of a set X. A function
h: X — Ris called simple if it assumes only finitely many values. Let ¢y, ..., ¢,

be distinct nonzero values of h. Then h is of the form
n
h(l’) = ZcilEi(x>v
i=1
where E; = h=!(¢;) € A.
Definition 3.4.12. Let A be an algebra of subsets of a set X and let A €
n
ba(A). Let h : X — R be a simple function defined by h(z) = Y ¢;1g,(x)
i=1
where {E;}?_; C A. The integral of h over E € A with respect to A is

/ hd) = zkjciw; NE). (3.8)
E i=1

Definition 3.4.13. Let A be an algebra of subsets of a set X and let A €
ba(A). If f: X — R is the uniform limit of a sequence of simple functions

{hn}, then the integral of f over E € A with respect to A is defined by
/ fdx= lim / hy dA. (3.9)
E n—oo E
That f is the uniform limit of {h,} means that ||f — hpllcc — 0.

It can be shown that the integral of f is well defined, i.e., that the limit in

(3.9) is equal for all sequences {h,,} converging uniformly to f.
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Before we end this section, let us present some elementary results that hold

when we are integrating with respect to ba(.A)-measures.

Let A be an algebra of subsets of a set X and let g, f : X — R be uniform
limits of sequences of simple functions. Consider a positive finitely additive

measure A € ba(A). Whenever g < f, we have

g dXx < [ fdA. (3.10)
fonrs]

Now, let A € ba(A). If A, B € A are disjoint, then

/AuBf d)\:/Af d>\+/de>\. (3.11)

Furthermore, for o, 3 € R and E € A, we have

/E(af+ﬂg) dA:a/Efd)\—l—ﬂ/Egd/\. (3.12)

(3.11) and (3.12) are referred to as additivity and linearity of the integral,

respectively.
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Chapter 4

Towards the Dual of (/¢

The goal of this chapter is to identify the dual of a quotient space X/Y.
First we will consider the case when Y is the kernel of a functional 2* € X™*.
Then we will discuss the case when Y is the kernel of an operator T': X — W
between Banach spaces, and finally the most general case where Y is any closed
subspace of X. In the final section we will establish an isometric isomorphism

between ba(2Y) and (£4)*, and this will be important for finding the dual of
EOO/C(] .

4.1 The Quotient Space X/ ker z*

The following proposition is more general than the result presented in Example
3.2.3 saying that R?/Y is isometrically isomorphic to R when Y = ker z* and
¥ =(1,-1).

Proposition 4.1.1. Let X be a Banach space and let z* € X* (x* # 0).

Then the quotient space X/ kerx* is isometrically isomorphic to R.

Proof. To show that X/kerz* is isometrically isomorphic to R, it suffices to
show that there exists 7' : X/kerz* — R such that 7 is a linear surjective
isometric operator. To this end, let z € X such that z*(z) = 1, let [2] €

X/kerz* and w € [z]. By the definition of coset there exists y; € kerz* such
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that w — z = y;. Like in (3.3) in Example 3.2.3, it can be shown that
" (w— 2 (2)z) = 2*(y1) = 0,

which yields w — z*(2)x € kerx*. Thus, by Proposition 2.1.2, we have [w] =
[%(2)x]. This means that for all [2] € X/ ker z* there exists an r|,) = x*(2) € R

such that
[2] = [w] = 27(2)[z] = riy[a].
If we let T : X/kerz* — R be defined by T'[z] = rp||[z], then T is a linear

surjective isometric operator (proof identical to the proof in Example 3.2.3).

Hence, X/ ker z* = R. O

~Y

The previous proposition states that (X/kerz*) = R. Thus, the dual space

(X/ ker z*)* is isometrically isomorphic to R* = R due to Remark 3.3.1.

4.2 An Investigation of X/kerT

In this section we will discuss the quotient space X/ ker T where T : X — W is
a bounded linear operator between the Banach spaces X and W. We will show
that when T is surjective, then X/kerT is isomorphic to W. This extends
Proposition 4.1.1 which shows that the latter holds for W = R. Indeed, in this
case every T' € X* (T # 0) is surjective. To establish the above mentioned

isomorphism, we will start by defining the quotient map.

Definition 4.2.1. Let X be a Banach space with a closed subspace Y. The
quotient map @ : X — X/Y is defined by Q(z) = [z].

Proposition 4.2.2. Let X be a Banach space with a closed subspace Y. The
quotient map Q : X — X/Y has the property that it maps the open unit ball
Ux in X onto the open unit ball Ux/y in X/Y, ie., QUx) = Uxyy-

Proof. Let [z] € Uyx/y and let {z + yn} C [z] such that

[+ ynll = ll] as 7 — oo
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(Note that [z + yy] = [z] for all n.) For all € > 0 there exists N € N such that
llx + ynll < ||[z]]] +e. If we let € be half of the distance between ||[z]|| and

one, ie., e = (1 — [|[z]||), we have
[z +ynll < [[[2]ll + & < [[[z][] + 2 = 1.

Thus, for all [x] € Ux,y there exists an element (z + yy) € Ux such that
Q(z + yn) = [z] which means that Ux/y C Q(Ux). Now, let » € Ux be
arbitrary with Q(x) = [z]. We see that

= inf < 0] <1,
]l = inf [l +y] <l + 0

which means that every point in Uy is mapped into Ux/y, i.e., Q(Ux) C Ux/y-
We have the desired result. O

Proposition 4.2.3. The quotient map from Definition /.2.1 is linear and

bounded with ||Q| = 1.

Proof. Let a € R and 1,22 € X. By Proposition 2.1.3 X/Y is a vector space,

so we have
Q(ary) = [ax1] = afr1] = aQ(x1), and
Q(z1 + 22) = [21 + 22] = [11] + [22] = Q1) + Q(22),

and @ is linear. Due to Proposition 4.2.2, we have the equality

1Q = sup [[Q(z)| = sup |Qx)|= sup ||[z]]|=1. (4.1)
z€Bx zeUx [z]eUx,/y

O

Let X and W be Banach spaces and let T € L£(X,W). Then the quotient
space X/ kerT is complete due to Remark 3.2.1. Now let T denote the map
T: X/kerT — W defined by T[z] := Tx. Then T is well defined because T is
well defined and linear (the linearity of T ensures that T'[2] is unique for each

[z]). Furthermore, T is surjective whenever T is.

Figure 4.1 illustrates the relation between the quotient map ) and the two

operators T € L(X, W) and T : X/ker T — W.
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X T w
X *T[x] = Tx
Q T
X/kerT
*Qx = [x]

Figure 4.1: The relation between the three maps Q,T and 7.

Proposition 4.2.4. Let X and W be Banach spaces and let T € L(X,W).
Then T : X/kerT — W defined by T[x] = Tz is a bounded linear injective
operator with | T|| = ||T).

Proof. Let a € R and [z1], [z2] € X/ker T. Then

T(alz]) = Taz] = T(ax) = aTz = oT[z], and

T([ZL‘l] + [.%'2]) = T[l‘l + $2] = T(.Z'l + 1‘2) =Tx1+Txy = T[l‘l] + T[.%'Q],
and T is linear. To see that T is injective, assume T'[x;] = T[xa]. Then,

0= T[l’l] — T[{L‘Q] = Tl‘l — TIL‘Q = T(l’l — ZL'Q),

which means that (z1 —x2) € ker T. It follows that [z1] = [x2] due to Proposi-
tion 2.1.2. It only remains to show the equality of the operator norms. Since

Q(Ux) = U(x/kerT) due to Proposition 4.2.2, we have

IT| = sup |T[a]|| = sup |T(Qx)|| = sup Tz = |T].
zeUx

[*]€Ux/ ker T zeUx

O]

Corollary 4.2.5. Let X and W be Banach spaces. Whenever T € L(X, W)

s surjective, T is an isomorphism between X/kerT and W.

Proof. Recall that X/kerT is complete by Remark 3.2.1. We know from

Proposition 4.2.4 that T is a bounded linear injective operator. Furthermore,
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since T is surjective, T is surjective. It follows by the Bounded Inverse Theo-

rem (Corollary 3.2.7) that T is an isomorphism. O

Remark 4.2.1. Tt can be shown that 7" is an isometric isomorphism whenever
T(Bx) is dense in By, but we will not go into detail on this. Therefore,
whenever we have a bounded linear surjective operator T' between Banach

spaces X and W where T'(By) is dense in By, then X/kerT = W.

Example 4.2.6. The quotient space ¢/cy is isometrically isomorphic to R. To
see this, let us define an operator T': ¢ — R by T'({a;}) = lim a;. It is easy
71— 00

to see that 7' is well defined, linear and surjective. T is also bounded:
IT|| = sup ||[Tal|| = sup | lim a;| = 1.
a€B. a€B, T

Furthermore, we see that kerT' = ¢y, and thus, due to Corollary 4.2.5 the
quotient space ¢/c is isomorphic to R through T'. Since T'(B,) is dense in B,

it follows from Remark 4.2.1 that T is isometric.

The previous example shows that ¢/cp = R through T. By Remark 3.3.1,
the dual (¢/cp)* is isometrically isomorphic to R* = R through the adjoint
(T)". (Note that T is a bounded linear functional on ¢, so ¢/co = R through

Proposition 4.1.1.)

4.3 The Dual of X/Y

In this section we will identify (X/Y)* when X is a Banach space and Y € X
is a closed subspace. We will do this by defining the annihilator of ¥ in X*

and show that the dual (X/Y)* is isometrically isomorphic to this set.

Definition 4.3.1. Let X be a normed space and Y a subset of X. The

annthilator of Y is the set
Yt ={s"eX*:2%(x)=0 VzeY } C X"

It can be shown that Y is a closed subspace of X* and thus a Banach space

by Proposition 2.2.3.
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Now, let X be a Banach space and Y C X a closed subspace. Let us consider
a functional 2* € Y+, Let [2] € X/Y and let u € [], i.e., u = x + y for some

y € Y. Observe that
z*(u) =" (x +y) = 2" () + 2% (y) = 2™ (x) for all u € [z]. (4.2)

Thus, it seems like each z* € Y1 can be associated with a functional ¢ €
(X/Y)* through ¢[x] = z*(z) as ¢ is uniquely defined for each [z] through

(4.2). Let us look closer at this connection in the following theorem.

Theorem 4.3.2. Let X be a Banach space and Y a closed subspace. The
dual of X/Y is isometrically isomorphic to the annihilator of Y in X*, i.e.,

(X)Y) =Y+t

Proof. Let @Q : X — X/Y be the quotient map from Definition 4.2.1. We
will show that the adjoint @* : (X/Y)* — X* is an isometric isomorphism
onto Y. To this end, recall that the quotient map is linear and bounded
due to Proposition 4.2.3, ie., @ € L(X,X/Y). Thus, due to Proposition
3.3.4, the adjoint of @ is a bounded linear operator with ||Q*| = ||@]| where
Q* : (X/Y)* = X* is defined by

(Q7¢)(2) = 9(Qz) = plz],

for all x € X. Furthermore, due to Proposition 4.2.2 we see that

Q7 ¢llx= = sup [(Q¢)(x)] = sup |p[z]] = llellx/v)s (4.3)
zeUx [x}GU(X/y)

and thus Q* is isometric and thereby injective. For (X/Y)* to be isometrically
isomorphic to Y+, it remains to show that Q* is onto Y. Let y € Y. Recall
that [0] =Y is the zero element of X/Y, and that all ¢ € (X/Y)* are linear.
We have

Q%) (y) = wlyl = p(Y) =0 forall yeY, ¢ (X/Y)",

which means that Q*((X/Y)*) C Y. Now, let z* € Y. Let ¢ : X/Y - R

be defined by p[z] = 2*(z). Due to (4.2), ¢ is well defined. Furthermore, ¢ is
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a bounded linear functional on X/Y since z* is bounded and linear. It follows
that Q* is onto Y+ and (X/Y)* = Y. This relation is illustrated in Figure
4.2. O

0 &M

Tl T eex=1A]

Figure 4.2: (X/Y)* isometrically isomorphic to Y1 through Q*.

Remark 4.3.1. Due to Theorem 4.3.2 it follows that the dual of ¢/cq is cg C

c* = {1, and the dual of £, /cg is cg C (£oo)*

4.4 The Dual of 7/

In the previous section we showed that ({s/co)* = cg C (foo)* (Remark

4.3.1). Thus, to understand the dual of ¢ /co we must understand the dual
of £+, and this is the goal of this section. We will start by defining generating
subset of a normed space. Then we will show that all elements = € /., are
either characteristic functions, simple functions or uniform limits of sequences
of simple functions. Finally we will use measure theory from Section 3.4 to
establish an isometric isomorphism between (£,)* and ba(2"), and we will
see that the dual space action on ¢, is given by an integral with respect to

A € ba(2M).

Definition 4.4.1. Let X be a normed space. A subset M C X is dense in X
if M = X where M is the closure of M in X.
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Definition 4.4.2. Let X be a normed space. A subset A C X is generating

if the linear span of A is dense in X, i.e., if M = X where

M :=span(A) = {z:czuZ g eRu; € A}.

i=1

Note that we can reduce any generating set A to be a subset Ac Sx by setting
A= {z/|z|| : x € A,z # 0}. For example, in £2, the set A = {(2,0),(0,3)}
reduces to A = {(1,0), (0,1)}.

Proposition 4.4.3. Let A be the set of all characteristic functions of the o-
algebra 2V, i.e., A= {1 : E € 2N, E # (0}. Then, A is a generating set in
Lo

Proof. First of all, we see that all characteristic functions 15 € A are sequences
x € Uy since x : N — R is defined by x(i) = x;. Furthermore, we see that the

linear span of A is

n
M :=span(A) = {Zci]‘Ei g eRE; € QN},
i=1

which is the set of all simple functions on 2N. It remains to show that M is
dense in /o, and that the convergence of {h,} C M to z € {y is uniform.
To this end, let © = {z;} € fx. Assume without loss of generality that
||z|| = 1. Split the interval [—1,1] C R into n different sets I} for some n € N,

ke€{1,2,..,n}. Let Dy be subsets of N containing those i’s such that z; € Ij.

L[]
I
I3

{xs5,%9,%10} € I

Figure 4.3: How we find the set Dy = {n € N: z; € I1}.
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Figure 4.3 illustrates an example of how we construct Di when looking at the
ten first terms of a sequence = € By__. In the figure we split [—1, 1] into eight

sets and show that Dy = {n e N: z; € Ir}.

n
The sets Dy, are disjoint and |J Dp = N. Let a; be the midpoint of each
k=1

n
interval I}, and let h, = )  axlp,. Then, h, is a simple function such that
k=1
h, — x as n — oo, which shows that the simple functions are dense in £,
Note that the convergence is uniform since sup |x; — hy;| — 0 asn — oco. O
€N
We will now define an operator ¥ : ba(2Y) — (fs)* using an integral, and
then we will show that ¥ is an isometric isomorphism. For the rest of this

section we elaborate on the arguments given at pages 7677 in [D].
Definition 4.4.4. Let ¥ : ba(2") — (£5)* be defined by ¥()\) = z% where
xy(x) = / x d\, forall z € (. (4.4)
N

The integral (4.4) is well defined since by Proposition 4.4.3 every x € {o is

the uniform limit of a sequence of simple functions in £

For ¥ to be well defined it only remains to show that ¥ maps to (¢s)*, i.e.,
that 23 is bounded and linear. Due to the linearity of the integral (3.12), =
is linear. Now, let x € By, N M where M is the set of simple functions on 2N,

We have

23(@)] = \ZCZMEZ)
Z el IACE

max \c,]Z\)\

16{17 T
<1 Supz ’)‘(Ez)
T =1

= [AIN) = [[All
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Furthermore, since M is dense in /o, we have that sup |z}(z)|= sup |z}(2)].
T€By r€By ,NM
Thus,

lzxl = sup [zx ()] < [[All (4.5)

[ASY =708

It follows that WA = 3 is a bounded linear functional on /,, and ¥ is well

defined.
Proposition 4.4.5. V from Definition /././ is linear.

Proof. Let E € 2N, a € R and A\, u € ba(2Y). Due to the definition of ¥
combined with the definition of scalar multiplication and vector addition in
ba(2Y), we have

o\ (1E) = (@A) (F) =aA(F) = az)(1g), and

3 iu(1E) = (A + p)(E) =A(E) + w(E) = 23(1g) + 2,(1p),
and WV is linear. O
Proposition 4.4.6. V from Definition /././ is a surjective isometry.

Proof. Let 2* € ({oo)*. Let Ay« : 2Y — R be defined by A\« (E) := 2*(1g) for

all £ € 2V and let E, F € 2N be disjoint. Since z* is linear, we have
/\x*(E U F) = a?*(lEUp) = x*(].]_:; + 1F)
=" (1p) + 2" (1F) = Ae= (E) + A= (F),
and A\« is a finitely additive signed measure. For A+ to be in ba(2Y) it

remains to show that ;- is of bounded variation. To this end, let {E;}? ; be

a partition of N. We have

N
s
=
n
E

2" (1,
i=1

@
I
—
s
I

I
M=

(sign 2*(1,) - 2*(15,))

n
=z* [Zsign x*(1g,) - 1Ei‘|
i=1

< [,

-
I
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due to the linearity of «* and since ||sign z*(1g,) - 1g,|| < 1. Thus, taking the

supremum over all partitions of N, we get
A |(N) = [[Ae- || < [l2*]], (4.6)

and )+ is a finitely additive signed measure on 2 that is of bounded variation.
Consequently, A+ € ba(2") and ¥ is surjective. Finally, when combining (4.5)
and (4.6) we see that

NI = [zl = [IAl- (4.7)

O

Corollary 4.4.7. The operator ¥ from Definition /././ is an isometric iso-
morphism between (£,)* and ba(2Y). It follows that ba(2Y) is a Banach space.

The dual space action on Lo is given by (4./).

Proof. Due to propositions 4.4.5 and 4.4.6, ¥ is a linear isometry onto ({s)*.
It follows that W is injective and bounded, and ¥ has a well defined bounded
inverse. Consequently, ¥ is an isometric isomorphism and ba(2N) is complete.

O]

The green area of Figure 4.4 illustrates the isometric isomorphism ba(2V) =
(lso)*. The red arrow in the figure shows how the dual space action on
is defined by an integral with respect to the finitely additive signed measure

A € ba(2Y).

ba(2Y) P o

o ] cq;/l:x/'.[

o //>\/
*X x,{(x)=£\xdl

N

Figure 4.4: The isomorphism ba(2Y) & (£,)* and the dual space action z%(z).
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Chapter 5

The Local Diameter 2

Property

In this chapter we will introduce the local diameter 2 property, and we will
look at various Banach spaces and see if they have this property. Finally, we
will discuss the dual space (¢ /co)* and the dual space action on ¢, /co before

we show that £ /co has the local diameter 2 property.

5.1 Introduction

In this section we will define a slice of the unit ball and look at two examples

of slices of Bz . Then we will introduce the local diameter 2 property.

Definition 5.1.1. Let X be a normed space. The diameter of a set Y € X
is defined as the number

di= sup |l —y].
z,yeY

Definition 5.1.2. Let X be a Banach space with unit ball Bx and let € > 0.

A slice of Bx is a set of the form
S(z*,e):={x € Bx : 2%(z) > 1 — ¢},
where z* € Sx~.
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Note that, since 1 = ||z*|| = sup |z*(z)|, every slice is non-empty. Moreover,
the diameter of a slice of B Xxff ;(t most 2.

Example 5.1.3. Let us look at an example of slices of Bz . Let z = (z1,72) €
¢2,. The norm on (% is ||z|| = max{|z1|,|z2|}. The unit ball is the set
By, = {x € /2 : max{|z1|,|72|} < 1} shown on the left side of Figure 5.1. It
can be shown that the dual of /2 is (¢2))* = ¢2 and that the dual space action
is given by x*(z) = byx1+bozo. The right side of Figure 5.1 shows the unit ball
of ¢2 which is the set Bp ={z" € Bzt <1} = {a* € 62 1 |by| + |be] < 1}

Figure 5.1: The unit ball of /2, and 3.
Let 2% € 2 be 27 = (1,0) and let € = 1/2. Then, the slice generated by 7} is

S1(21,1/2) = {z € Bp_:zj(x) >1-1/2}
={z € Byz_: (1,0)(z1,22) > 1/2}

= {:E S ngo x> 1/2}.

22 | s,z

X1

Figure 5.2: The slice Si(z7,1/2) for 7 = (1,0).
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This slice is the green area in Figure 5.2. We see that the diameter of S =

Si(z1,1/2) is

d= sup [l —yl=](1,1)—=(1,-1))

l',y651
= 110, =2)|| = max{0,| - 2]} = 2,
which yields d = 2.
Now let us look at another slice. Let 23 € 2 be 25 = (1/2,1/2) and let
e = 1/2. Then, the slice generated by x3 is
S2(25,1/2) = {z € Bpp_ : x5(x) > 1-1/2}
={z € Bp, :(1/2,1/2)(z1,22) > 1/2}
:{iL'EBZgo :1‘1+SU2>1}.

2 X2 2
1% §2(x3,1/2) 1")1

b,
/\XE =(1/2,1/2)
)

X1

Figure 5.3: The slice Sa(x3,1/2) for x5 = (1/2,1/2).

This slice is the green area in Figure 5.3. For all z,y € Sa(x3,1/2) we have
2 = yll = [[(x1,22) — (y1, y2) | < max{|ai], [yi] i = 1,2} <1,

since x;,y; > 0. Since this holds for all elements of the slice, the slice has
diameter d < 1. Now let 6 € (0,1). Then, (1,1) and (4,1) are elements of
Sa(x%,1/2), and d > ||(1,1) — (4,1)]| = 1 — 4. Consequently, the diameter of
So = Sa(x5,1/2) is

d= sup |lz—vy| = sup max{|z; —yl:i=1,2} =1. (5.1)
z,y€ES2 z,yES2
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Definition 5.1.4. ([ALN, Definition 1.1]) A Banach space X is said to have

the local diameter 2 property (LD2P) if every slice of Bx has diameter 2.

In other words, that a Banach space X has the LD2P means that there for all

d > 0 and every slice S(z*,¢) exist z,y in the slice such that ||z —y|| > 2 — 4.

5.2 Spaces with and without the Local Diameter 2

Property

In this section we will see whether some well known Banach spaces have the
LD2P. Recall that, for any slice S(z*,¢) of the unit ball Bx of a Banach space

X, the maximum possible diameter of a slice is d = 2, as x,y € Bx.
Proposition 5.2.1. /2 does not have the LD2P.

Proof. To show that 2, does not have the LD2P it suffices to show that there
exists a slice of By that does not have diameter 2. In Example 5.1.3 we saw
that the slice Sa(23,1/2) of Bz, where x5 = (1/2,1/2), has diameter 1 (see
(5.1)). Consequently, £2, does not have the LD2P. O

Proposition 5.2.2. ¢; does not have the LD2P.

Proof. Like stated in Example 3.1.3 the dual of ¢; is £, and the dual space
action is given by (3.1). We must show that there exists a slice of By, that does
not have diameter 2. Let z* € {o be 2* = €] = (1,0,0,...) and let ¢ = 1/2.

The slice generated by z* is

S(x*,1/2) ={x € By, : z*(x) >1—-1/2}
= {{xz} S Bgl T > 1/2}.
Thus, for all z € S(z*,1/2) we have z1 € (3,1]. If we let v,w € S(z*,1/2),

we have

"Ul — w1] < 1/2. (5.2)
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[e.e] [e.e]
Furthermore, ||v]| = Y |v;| <1 and ||Jw|| = > |w;| < 1. Thus,
i=1 1=1

vl <1—Jui| < 1/2, and > Jw| <1—|wy| < 1/2. (5.3)
=2 =2

By the triangle inequality combined with (5.2) and (5.3), we have

o0

o
lo —wll =Y Jvi —wil = o1 —wi| + D |v; — wil
i=1 i=2
o0 o
<o —wil + Y vl + > fwl
i=2 i=2
<1/241/2+41/2,
for all v,w € S(z*,1/2). Since this holds for all elements of the slice, we have
d=suplv—w| < 3/2 < 2,
v,W
and the slice does not have diameter 2. O
In [ALN, page 440] we can read: "It is an interesting exercise to show that

the classical spaces ¢y, C[0,1] and L]0, 1] have the diameter 2 properties.".

Now, we will show that the spaces ¢y, ¢, L1 and ¢, have the local diameter 2
property.
Proposition 5.2.3. ¢y has the LD2P.

Proof. Let € > 0. We know from Example 3.1.3 that the dual of ¢y is ¢1. Let
z* € Sy, be x* = {b;} and let © = {a;} € ¢p. The dual space action on ¢y is

given by (3.1) and the slice generated by z* is
S(z*,e) ={x € Bey : 2™ (x) > 1 —¢€}
= {{CLZ} € Bco : Zbiai >1-— 8}.
i=1

We must show that every slice of B, has diameter 2. To this end, let u; =
sign b; and let u = YN | we; for some N € N (we will determine N later).
Now let v = v+ en41 and w = u — eny1. Clearly v,w € B, by definition.

By the dual space action on ¢y, we have

N

o0 N
1'*(711) = Zbiwi = sz . sign bz‘ + bN+1 . (—1) = Z ‘bz’ — bN-i—l;
i=1 i=1 =1
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which yields

N
2 (w) > 3 [bi] — by | (5.4)
=1

o0 o0 o0

Note that 1 = ||z*|| = > |b;|. Thus, by adding > |b;| — > |bi] to the
i=1 i=N+1 i=N+1

right side of (5.4), we get

o oo
ww) > [le* | = S bl = vl =1- (X bl +lbwal).  (55)
i=N+1 i=N+1
[e.°]
Since z* € ¢; we know that > |b;] = 0 as N — oco. Thus, for each € > 0
i=N+1
let N € N be such that
o0
Z ‘bz‘ + ’bN—&-l‘ < €.
i=N+1

Then, (5.5) yields z*(w) > 1 — ¢ and w € S(z*, ). Similarly, we see that v is

also in the slice:
N N
a*(v) =Y |bil +byyr > D |bi] — |baa]
i=1 i=1

=1— (X Il + bvial) > 1-e.
N+1

Finally, for S = S(z*,¢), we have

d= sup [lz —y| > [jv - w|| = sup|v; — wil

ﬂﬂ,yES ieN

> oy —wny1]| =1 — (1) =2,

and S(x*, ) has diameter 2. Since ¢ and z* were arbitrary, ¢y has the LD2P.

O

Proposition 5.2.4. ¢ has the LD2P.

Proof. We know from Example 3.1.4 that the dual of ¢ is ¢; and the dual space
action is given by (3.2). Let «* = {b;} € ¢; with ||z*|| =1 and let € > 0. The

slice generated by z* is
S(z*e)={x € B.:x"(x) >1—¢}

= {{al} € B.: b legloal + i:ZQQi_lbi >1-— E}.
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To show that ¢ has the LD2P, it suffices to show that the slice above has
N-1

diameter 2. To this end, let u; = sign b;+1 and let w = > w;e;. Now, define
i=1

v and w to be
o0 o0
v=u+en+ Z sign by -e; and w=u—eny+ Z sign by - e;.
i=N+1 i=N+1
Then, we see that

lim v; = lim w; = sign b;. (5.6)
1—00 71— 00

Clearly v,w € B.. By the dual space action on ¢ combined with (5.6), we get

I‘*(’U) =b ’LIL\IEO v; + Z V;—1b;

=2
N ]
= bysign by + Zsign b; - b; +1-bny1+ sign by Z b;
=2 i=N-+42
N o0
= Z |bz| + bn41 + sign by Z b;. (5.7)
=1 i=N-+2

o o
By the triangle inequality, and by adding > |b;| — > |b;] to the right

i=N+1 i=N+1
side of (5.7), we get
N oo
o*(v) 2 ) [bil = ol = D [l
i=1 i=N+2

=llz"ll =2 > [bil. (5:8)

i=N+1

[e.°]
Note that [|z*]| =1 and Y |bj] — 0 as N — oo. Thus, for our choice of €,
i=N+1
let N € N be such that

[e.o]

Z |bl| < 8/2.

i=N+1

Thus, (5.8) yields z*(v) > 1 —¢, and v € S(z*,¢). Similarly it can be shown

that w is also in the slice. Finally, for S = S(x*,¢), we have
d= sup ||z —yl| = [[v—wl = sup|v; — wi
z,yes ieN
> oy —wn| =1 - (-1)] =2,

and S(z*,¢) has diameter 2. O
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Proposition 5.2.5. Let ([0,1], A, 1) be a measure space where A is the Lebesque
o-algebra on [0,1] and where p is the Lebesque measure. Then, the space of

integrable functions Ly = L1([0, 1], A, u) has the LD2P.

Proof. First of all, it is well known that the dual of L is L, where L, is the
space of essentially bounded measurable functions, and that the dual space
action on L is given by

flg) = fg du,
[0,1]

for all g € Ly. Let ¢ > 0 and f € Sr__. The slice generated by f is

S(f,e)={9€Br,: fg) >1—¢}

:{gEBLI:/ fgdu>1—c¢}.
[0,1]

To show that L; has the LD2P, it suffices to show that the slice above has

diameter 2. By the norm on Ly, we have 1 = || f|| = ess sup |f(z)|. Thus,
A

z€[0,1

for all € € (0,1), there exists a measurable set E C [0, 1] such that
|f(x)] >1—¢ forall z€F, (5.9)

where the set E' € A has measure p(FE) > 0. Let us split E into two disjoint
sets A1 U As = F so that u(A;) > 0 for both sets. Now, define two functions

g1 and g2 to be

1 .
g1(x) = mlAl(x) -signf(x), and

1

go(xr) = ———14,(x) - signf(z).

(@) = () -sign (@)
Then, by the norm on L1, both g; and gy are in Br,:
losl = | aild

[0,1]

Furthermore, due to (5.9), both g1 and gy are in the slice S(f,¢):

Sy =[ 1 / 17—

9i) = gi d
[0,1] M(AZ
(1—¢ /

A; (A

o6

1, ie{1,2}.

1—e.




Since g1 and go take nonzero values on different disjoint sets, we have that

lg1 — g2| = |g1] + |g2]. Thus, for S = S(f,e), we have

d=sw o=yl = s —gall = [ v~ gol
z,yeS [0,1]

)

Z/E(Igl\ﬂgz!) dp

:/ 191 du+/ lg2| dp = 2,
A1 Ao

and the slice has diameter 2. O

Les us now present a lemma that will be needed when we show that ¢, has

the LD2P in Proposition 5.2.7.

Lemma 5.2.6. Let A\ € ba(2Y). Then, for all n > 0 there exists an n € N
such that |IA({n})| <n.

Proof. We have ||| = |A|(N) by Proposition 3.4.8. Let n > 0 and assume that
IA({n})| > n for all n € N. Choose a partition 7 of N to be

k
m= {12}, (B (An}) where Ay =N\ Ui

Thus, using the definition of |A|(N) (Definition 3.4.5) combined with our as-

sumption, we get
k
A= AN Z DI+ A Am)] = k-1 + [AAm)]- (5.10)
Let k € N be such that k£ > ||[A||/n + 1. Thus, (5.10) yields
A= (/7 +1) -0+ A = A+ 74 [ACAm)[ > (A,

which is a contradiction. Consequently, for every n > 0 there exists at least

one n € N such that [A({n})| <n. O
Proposition 5.2.7. {o, has the LD2P.

Proof. Due to Corollary 4.4.7, we have (fs)* = ba(2"), and the dual space

action is given by



for # € U, 23 € (Ioo)*, A € ba(2V). Let &€ > 0 and a3 € Sy, ). The slice

generated by x} is
S(zy,e) ={zr € By : x)\(z) > 1—¢}
={x € By :/xd)\>1—5}.
N

To show that /o, has the LD2P, it suffices to show that the slice above has

diameter 2. To this end, let u be an element of the slice S(z3,e/2), i.e.,
/ wdh>1—¢g/2. (5.11)
N

Let n > 0 such that 7 = /4. Due to Lemma 5.2.6 there exists an n € N such
that
IA({n})| < e/4. (5.12)

Now define v to be equal to u except for the term v, i.e.,
v = (Ul, U2y -y Up—1, 17 Un+1, )

Thus, u and v are equal on the set N\{n}, and due to the additive property

of the integral (3.11), we get

x}‘\(v):/vd)\: vd)\—i—/ v dA
N N\{n} {n}

= g AT /{n} e /{n} e
_ /Nu X+ A({n}) (1 — up). (5.13)

Note that [i,, z dA =1-A({n}) and [, u dA = uzA({n}) since z and u are
simple functions on the set {n}. Furthermore, when combining (5.11) and

(5.12) with the fact that (1 — uy,) € [0, 2], then (5.13) yields
(02 [ wdr= ()2
>1—¢/2—¢/2,
which shows that v € S(z},¢). Now define w to be
W= (U1, U2y ooy Un—1, — 1, Upy1,...)
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where w, = —1 for the n fulfilling (5.12). Performing similar computations as

before, we get

2% (w) :/w d)\:/ud)\—)\({n})(un—i—l) > / wdh—A({n})]-2> 1—¢,
N N N
and w € S(x},¢). Finally, for S = S(z3,¢), we have

d= sup |z =yl > [[v—w| = sup|v; — w]
z,y€S ieN

> |Un _wn| = |1 - (_1)’ = 27

and the slice has diameter 2. O

5.3 The Local Diameter 2 Property in /.. /¢

It is time proceed to the goal of this thesis: We will show that the quotient
space {/co has the LD2P. For this we will need the dual space action on
lx/co and an observation about the norm on the quotient space. We will

begin with the latter.

By Definition 2.1.20 the norm on £« /¢y is given by ||[z]|| = algcfo |z +al|. Now,
let = {z;} and y = {y;} be elements of ¢, and let a = {a;} € ¢y. Since {a;}
converges to zero, then |z; — y; + a;| — |x; — y;| as i — oo. Thus, if z and y
are constant on an infinite set, i.e., if x; = r1 and y; = ro for infinitely many

1’s, then we have
|z —y+al =sup|z; — yi + ai| > |r1 —ral,
€N
for all a € ¢y, and so

] = [ylll = jnf |z —y +all 2 inf [r1 —rs| = |ry —72]. (5.14)

aecy

This observation will be helpful when showing that a slice of By_ /., has di-

ameter 2.

Now, let us establish the dual space action on £, /co. Due to Corollary 4.4.7,

we know that ba(2") 2 (£,)* through the operator W : ba(2Y) — (£oo)* defined
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by (UA)(z) = x3(x) = [Jyz d for all # € {o. This mapping is an isometric
isomorphism due to (4.7), i.e., [(N)| = ||2}]| = || for all A € ba(2Y). The

mapping is illustrated in green in Figure 5.4.

ba(2V) v |t
2

. 2o /co
Q
x | T 7| cex=[A]

Figure 5.4: The two isometric isomorphisms (s /co)* = cg- C €%, = ba(2V).

Furthermore, by Theorem 4.3.2 we know that the dual (¢ /co)* is isometrically
isomorphic to ¢ C (£so)* through the adjoint Q* of the quotient map @, which

* onto cé‘. This is illustrated in red in Figure 5.4. The adjoint

maps (£oo/co)
Q* is defined by (Q*¢)(x) = ¢(Qz) = ¢[z] for all x € ¢+ (Definition 3.3.3
combined with Definition 4.2.1). Recall that by (4.3) we have ||Q*¢| = ||¢||
where Q*p = 2% € cg C (loo)*.

When combining the two previous paragraphs, we get that each functional

©x € (loo/co)* can be associated with a bounded finitely additive signed mea-

sure A € ba(A) through

ealz] = pA(Qz) = (Q ) (z) = 2} (2) = (¥A)(2), (5.15)
where z3 € c& C ls. Due to Corollary 4.4.7, the dual space action on f,
is given by z3(z) = [y dX for all # € . Thus, (5.15) yields that for all
©x € (loo/co)* and [z] € lo/co the dual space action on l/cp is given by

oalz] = 23 (x) = /N:c dA, (5.16)

where ,[z] is unique for each [z] € ls/co since x§ € cg. Furthermore,

combining (5.15) with (4.3) and (4.7) we have the equality ||¢x| = [|z3]] = [[A].
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Now, let us present a lemma.

Lemma 5.3.1. Let n > 0 and X\ € ba(2Y) with |\|| = 1. Let A; be the set
defined by A; = {(n—1)k+1i:n € N} for some k € N, i€ {1,2,....k}. Then
there exists k € N such that |\(A;) < n for some i € {1,2,...,k}.

Proof. First of all, let us visualise the sets A;:

Ar={L,k+1,2k+1,...}
A ={2,k+2,2k+2,...}

As={3,k+3,2k+3,..}

Ay, = {k, 2k, 3k, ...}

If we let 71 = {A;}¥_,, we see that 7 is a partition of N. For n > 0 let k € N
be such that & > (1/n+1), and assume |A|(4;) > n for all A; € ;. Recall that
IAll = |Al(N) due to Proposition 3.4.8. Since |A| is a positive finitely additive

measure by Proposition 3.4.6, we have
k
1= [IX] = AIN) =D A[(4))
i=1

>k-n>1/n+1)-n=1+n>1,

which is a contradiction. Consequently, there exists at least one set A; € my

such that |A|(A;) < n. O
Theorem 5.3.2. (., /co has the LD2P.

Proof. Let e > 0 and @) € S(y__ /¢)+- The dual space action on £ /cp is given

by (5.16), so the slice generated by ¢, is

S(pa.e) ={[z] € Brjep  oalr] > 1 —¢€}
={[z] € By /ey : /N:U dA >1—¢€}.
Let [u] € S(px,e/2) with ||[u]|| < 1, ie.,

oa[u] = /Nu dA>1—¢/2. (5.17)
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For ke Nandie{1,2,....k} let A;={(n—1)k+i:n € N}. Then A; C Nis
of infinite cardinality. Note that 1 = ||| = ||A||. Thus, due to Lemma 5.3.1,
if we let n = /4 there exists k € N and j € {1,2,...,k} such that the total
variation of A on the set A; = {(n—1)k+j:n e N}is

IA(4;) < e/4. (5.18)

We know that [u] € U, /,- Thus, by Proposition 4.2.2, there exists an element
u € [u] such that u = {u;} € U . For this u, define two elements z,y € lo
by

1, 7€ Aj

r={x;} = (5.19)
u; otherwise,
-1, 1€ Aj

y=A{ui} = (5.20)
u; otherwise.

We see that x,y € By. Since [|[z]|| < |lz||, we have that [z], [y] € By /c,-
We want to show that [z] and [y] are in the slice S(py,e). By the additive
property of the integral (3.11), we have

oalz] = / x d\
N
:/ ud)\+/ 1 dx
N\A, A
:/ud)\+)\(Aj)—/ w dA. (5.21)
N A

J
Note that A = AT — A\~ by (3.7), where AT and A\~ are positive finitely additive

measures by Proposition 3.4.9. Thus, by (3.9) it can be shown that

/di:/diJ’—/xd)\_,

for all x € 5. Thus, (5.21) yields

o] :/Nud)\+)\(A]-)—/A'ud)\++/A'ud)\_. (5.22)

Now, let w = {||ul|, ||u]], ||u||,...}. Thus, w is a positive simple function in

and v < w. Thus, [u d\* < [w d\T by (3.10), and since [w dA\* > 0, then
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(5.22) yields
oalz] Z/NU d>\+)\(Aj)/Ajwd)\+/Ajw A\~
= [ w A7) = full (N (A + A (4))
= [ w4 — ull A (4).
Furthermore, note that |A|[(A4;)| > |A(A;)| which yields
palz] > /NU dA = |A|(Aj) = [luflIAICA)-
Finally, combining ||u|| < 1 with (5.17) and (5.18), we get
pala] = [ wdr—2(4))

>1—-¢/2—¢/2,

which shows that [z] € S(p),e). Similarly we can show that [y] is in the slice:

@A[y]:/ ud)\—/ 1d\
N\A; A;
:/udA—A(Aj)—/ w dX
N A
:/ud)\—)\(Aj)—/ ud)\++/ w A~
N A Y

Z/Nud)\—]/\\(Aj)—/A'wd)\+—/A.wd/\_
= [ wdh = ) el (X (4) + 27 (4)))
z/Nud)\—2])\|(Aj)

>1—¢/2—¢/2.

Since € and @) were arbitrary, it only remains to show that S = S(¢),¢e) has

diameter 2. Since z; = 1 and y; = —1 on the infinite set A;, then by (5.14),

we have
d= sup |[[v] —[w]]| > |[[z] = [yll| = [1 - (=1)| =2,
[v],[w]€S
and the slice has diameter 2. O
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